log AY/Y)

LABJINDUS triang'e ligh.tness
Yoc=Yw nc=110, L
S
*{,*AEL] =TIN[(A 10ALRY)V (A 20A o) Ync/ 100<Y<=Y,0)
(8 £) =22 A TERa9E =, ( 20)= 46
L* =49, t* =498

t*18—49834 170,01 4Y, A,=0,0p58 —
t*36727.9,17 A*url4fg‘34 118 application

range

YN—3,6 Yy=90
LABJINDu6
tristimulus value difference
Yac=Yw - nc=100,
L aBINDUs=IINI(A 1+ A2 )I/(A 2nA0n)] (Yao/100<Y<=Y,0)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=1.5, Ao a=1,0, see CIE 230:2019
d¥95=0,53, Ay=1,000, ¢=1,00
dY;4=0.12, A=0.017, Agn 0,0058
dY3,6=0,03 Y,=18, dY=0 4
b
t*,=498 dY,=0,12 dY,/'(,=0 J067 ‘

application
range

1
1Y=18
Yw=90

LABJINDuU6
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

L aBINDUs =[IN[(A 1n+A2)I/(A 2nA0n)] (Yao/100<Y<=Y,0)
AYIY=AG A1 +AZYYY

(dY/Y 2 0059, A,=1,000, ¢=1,00
(dY/Y)g=C 0us7, A =0.017, A, =0,0058
(dY/Y} =0,0205 Y,=18, dY=0,12

application
BN q9e

R ~
log(dY/Y)E-2,17, m;=-0, e 4

t*,=498 dY,=0,12 dY,/Y,=0,00671
1
'Y,=18

log (Y/AY)

— e e -

Yn=3.6

Yw=90

LABJINDu6
tristimulus value contrast

GO Yac=Yw - nc=100,
t*LaBaNDus =[IN[(A 1n+A2nV)/(A 2rAon)] (Yac/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]
(Y/dY}=166,97, A=1,000, ¢=1,00
(Y/dY)g=148.27, Ar=0,017. A,=0,0058
(Y/dY: ¢95 03 Y,=18, dY=0,12

t*,=498 d¥,=0,12 Y,/dY,=148
e
16g(Y/dY)=2,17, m,= o,1§ Jg s
*

application
range

Y,=18

YN=36 ) Yw=90

log(AY/AY,)

log [AYY) I (AYIY),]

LABJINDuG6 relative triangle lightnesst*/t*,,
t/t* u Ync‘YW nc_loox

t* LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t(3,6)=219.* ,(18)=498 t* , (90)=776

Uoy=1.85. Ax=1.000, ¢=1.00

{29 =100, Ar=0,017, £,=0,0058

3 gt*(=0,43 t,=498,34 Y1

t/t* =1, m,=0,79

application
range

1v,=18
e

Yn=3.6

LABJNDU6 relative
tristimulus value difference

D7 Yoc=Yw - nc=100,
t*LaganDus =[IN[A 1n+A2nV)I/(A 20A0n)] (Yno/100<Y<=Y, )
AY/dY,=AgnA 11+AanY1/dY,

dYeo/dY,=4,43, Ay=1,000, ¢=1,0

Y, ¢/dY,=1,00, A=0,017, Az =0, 0
dY3 4dY,=0,31 Y,=18, d\=0,1

>
>
t*,=498 dY,=0. 12 dy, /! 1u—0 ./067 >

LABJNDUS relative
_ tistimulus value sensitivity
SSu=OYMIBYNy . =y, =100,
t*Laganpus =[IN[A 1n+A2nV)I/(A 20A0n)] (Yno/100<Y<=Y, )
(AY/YYAY Y =(A A Y)Y (AY/Y),]
(dY/Ypo/(dY'Y)-C,28 A.=1,000, ¢=1,00
(dY/Y)g/(dY/Y,~1,00, A =0,017, A,=0,0058
(dY/Yy¢(dY/Y)=1,2% Y.=18, dY=0,12

log[(dY/YY(dY/Y),]=0, m=-0, 13 1
t* = application
t*,=498 dY,=0,12 dY,/Y,=0,0067 rapr?ge

log [(Y/AY) I (YAY),]

1y,=18
Y=90

YN=3.6

LABJNDU6 relative
CICy=(YIAY)(YIAY), El(snn;t\;\l/us value contrast

=100,

t*LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)

(VY Y(YIAY), =Y IYIAY )T oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=1,00

(YIdY)g/(Y/dY)=1.00. An=0.017, /,=0,0058
(Y/dvgij(wdv =0,64 é 18, d\g—Az”

application
range

1y,=18

Yy=90




